
MSE228 Engineering Quantum Mechanics 

Quiz 3 Duration: 30 minutes Open Book Quiz 

 
1. The Balmer series for the hydrogen atom corresponds to electronic transitions that 

terminate in the state of quantum number n=2 
(a) Find the longest-wavelength photon emitted and determine its energy.  
(b) Find the shortest-wavelength photon emitted and determine its energy. 

 
2. Are we justified in using a nonrelativistic treatment for the speed of an electron in 

the hydrogen atom? (Hint: r=a0= 0.5 Ǻ) 

 
 
 
 
 
 
 
 


